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Note: Answer any FIVE full qaestionsffiosing ONE fuU question f#om each module,
otu- *' : r

I a. Explain wirh near sketch, ,rrF ;;P tJw 
(08 Marks)

b. What is Pulvarised coal? *$i ffi ttre advantages and limi@tions of Pulvarised .o?l: 
*,-_,.

Seventh Semester B.E. Degree ExamiH:q:{iofr , Dec. 2018 / J an.20l9
::::::

Energy Engir&ring
;i'q,*I -"" .,.,.,:.:.,

Time: 3 hrs. " ' ;-] i1,s' Marks: 80

e# ""+';''

iri*s{Y . (08Marks)

'ft$, 
H J*;*

Explain with neat *rur*fr,I*ton. eu*.?.R .,i ',u-'"'' (08 Marks)
Explain Forced d$bught system. .,,,r,*l+., (08 Marks)

4 -r$s*-: " l
,,:,., , ModutCl2

Explain wiih iteat sketch air intake fi;ffit system.

-.,;.r' ,l':li . tMOdUle-4
'i { 'l!.

Explain with,neffi sketch, Verticl&ffii$ fype wind mill. (08 Marks)

Wind at I 'it&tlard 
atmospheric.prEr surl-and l50C temperature has a velocity of 15m/s with

turbine operating speed of 4Q rpm at maximum effrciency. Assume turbine diameter 120m.turbine operating speed o{t--Q,,rp* at maximum effrciency. Assume turbine diameter 120m.

Calculate i) Total poryiiry'ffisify in tlre wind sEeam ii) The maximum obtainable
power density iii) {fftdasonably obtainable power density @ 11:35oh iv) Total

3 a. Explain with'iteat sketch air intake and exhaust system. (08 Marks)
b. I,ist the'aOiantages , limitation an$"upp$ication oiDiesel P.oihgr Plant. (08 Marks), .\-,

" s{{s,'
-1 .,, .OR r -- {_.

4 a. How the Hydel power plantg,ard classified and e4pl'biri,with neat sketcJr"'ffiped storage
plant? . '-"'*" *{' (07 Marks)

b. befine i) Hydrographii*,4ti) Flowduratioptqurve iii) Surgetapk.* (09Marks);:' 4*.W *fu
Module"3 i d]4t"5 a. What is Beam Rdidtion? Explain wo*ffi principle of Pyrh6liolneter for measuring beam

radiation. ir 'b 
^ (08 Marks)

b. The incident beam of sunlight ha6a ffier density o{J,li}V./m2 in the direction of beam. The
angle -of inclination is 600. Calculate the power col\ected by the surface having a total area of

""L.'':nr;.,,st n 
. 

OR
6 a. ,i@plain with neat skotchl working principle of a solar cell. (08 Marks)

h,':,,Explain three Basic mq,thods of ThermalEnetgy Storage. (08 Marks)

8a.

b.

power. (08 Marks)

;'."""" OR
How Tidal poW&i",plants are classified and what are the limitations of Tidal power plant?

(09 Marks)
(07 Marks)

i,

Explain,,ffidamental characteristics of Tidal power plant selection.
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